POWELL VALVES SINCE 1846

SERIES: B920SM - B920SC (1/4” - 3/4")
3-PC SOCKET WELD END BALL VALVE
Stainless / Carbon Steel

DESIGN FEATURES:
* Fullport, 1/4"~3/4" (DN8-DN20) ~ * Locking device
e WP.: ¢ Thread Type:
» 1/4” ~1" - 2000 WOG »  ASME B1.20.1 (NPT)
e \W.T.:-20°C~200°C (-4°F~392°F) »  DIN2999 & BS21
* |nvestment casting » 1S07/1 & EN10226
* Blow-out proof stem * NACE MR0103
¢ Silicone Free * API 607 Fire Safe Approved
* Anti-static device ¢ API 608 Design
MATERIAL
ITEM PARTS
B920SMRGXXX | B920SCRGXXX
1 BODY ASTM A351-CF8M
ASTM A216-WCB
2 CAP ASTM A351-CF3M
3 BALL ASTM A351-CF8M
4 STEM ASTM A276-316
5 BALL SEAT RTFE
6 GASKET GRAPHITE
7 THRUST WASHER CTFE
8 PACKING GRAPHITE
D; o 9 GLAND RING AISI 304
10 DISC SPRING AISI 301
& Q8T —- T - " LOCK PAD ASTM A167-304
| —IT% L 12 STEM NUT ASTM A194-8A
L 13 BOLT ASTM A193-B8A
@5 N 3G (Jg) 14 NUT ASTM A194-8A
- 15 STOPPIN AIS| 304
16 HANDLE STAINLESS STEEL
17 HANDLE SLEEVE PVC
Torque | Weight
Cw [ | | w | s ||
8 8 140 | 250 | 657 | 10 | 570 | 121 | 98 | 1135 57 | 36 FO3 M5%0.8 | 3/8"-24UNF | 3.8 0.7
10 10 | 180 | 25.0 | 657 | 10 | 57.0 | 121 | 98 | 1135 | 57 | 36 FO3 M5%0.8 | 3/8"-24UNF | 3.8 0.7
15 15 220 | 303 | 748 10 57.0 | 121 98 | 1135 | 57 36 F03 M5*0.8 | 3/8"-24UNF 3.8 0.8
20 20 275 | 36.0 | 80.2 13 59.7 | 145 | 106 [ 1135 | 57 36 F03 M5*0.8 | 3/8"-24UNF 5.1 09
unit: mm

Torque | Weight

(in-Ib) (Ib)
1/4" | 031 | 055 | 098 | 259 | 039 | 224 | 048 | 039 | 447 | 022 | 1.42 FO3 M5*0.8 | 3/8"-24UNF | 338 1.6
3/8" [ 039 | 071 | 098 | 259 | 0.39 | 224 | 048 | 039 | 447 | 022 | 142 FO3 M5*0.8 | 3/8"-24UNF | 338 1.6
1/2" |1 059 | 087 | 1.19 | 294 | 039 | 224 | 048 | 039 | 447 | 022 | 1.42 FO3 M5*0.8 | 3/8"-24UNF | 338 1.7
3/4" [ 079 | 1.08 | 142 | 316 | 051 | 235 | 057 | 042 | 447 | 022 | 142 FO3 M5*0.8 | 3/8"-24UNF | 45.1 1.9

unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com



POWELL VALVES SINCE 1846

SERIES: B920SM - B920SC (1" - 2")
3-PC SOCKET WELD END BALL VALVE

Stainless / Carbon Steel
DESIGN FEATURES:

2E
@01
D
#d
|

|

Full port, 1"~ 2" (DN25~DN50)
W.P.:

» 1/4" ~1" - 2000 WOG

» 1-1/4" ~2" - 1500 WOG
W.T. : -20°C~200°C (-4°F~392°F)
Investment casting

Blow-out proof stem

Silicone Free

Anti-static device

Locking device

Thread Type:

»  ASME B1.20.1 (NPT)

»  DIN2999 & BS21

» 1S07/1 & EN10226

NACE MR0103

API 607 Fire Safe Approved
API'608 Design

MATERIAL
PARTS
B920SMRGXXX B920SCRGXXX
1 BODY ASTM A351-CF8M
ASTM A216-WCB
2 CAP ASTM A351-CF3M
3 RETAINER
ASTM A351-CF8M
4 BALL
5 STEM ASTM A276-316
i 6 BALL SEAT RTFE
) 7 GASKET GRAPHITE
8 THRUST WASHER CTFE
9 PACKING GRAPHITE
= 10 GLAND RING AISI 304
1 DISC SPRING AISI 301
12 LOCK PAD ASTM A167-304
13 STEM NUT ASTM A194-8A
14 BOLT ASTM A193-B8A
15 NUT ASTM A194-8A
16 STOP PIN AISI 304
17 HANDLE STAINLESS STEEL
18 SPRING WASHER AISI 304
19 HANDLE SLEEVE PVC

Torque | Weight

(N-M) | (kg)

25 24 | 266|345 | 448|930 | 13 | 815 | 155 | 140 | 146 | 75 | 42 Fo4 M5*0.8 | 7/16"-20UNF | 10.2 17
32 30 | 350 | 430|540 |1106| 13 | 859 | 155 | 15.0 [ 146 | 75 | 42 Fo4 M5*0.8 | 7/16"-20UNF | 159 2.7
40 38 | 410|490 | 62.0 | 1226 13 | 967 | 27.3 | 187 | 180 | 86 | 50 F05 M6*1.0 | 9/16"-18UNF | 21.0 39
50 50 | 525|612 | 760 | 1400 | 16 [1049| 28.1 | 190 | 180 | 86 | 50 F05 M6*1.0 | 9/16"-18UNF | 32.1 6.2
unit: mm

e s | w5 [T e

1" | 094 [ 1.05 (136|176 | 3.66 | 0.51 | 321 [ 0.61 | 0.55 | 5.75 | 0.30 | 1.65 Fo4 M5*0.8 | 7/16"-20UNF | 90.2 38
1-1/4" 1 118 | 1.38 | 169 | 213 | 435 | 0.51 | 3.38 | 0.61 | 0.59 | 5.75 | 0.30 | 1.65 Fo4 M5*0.8 | 7/16"-20UNF | 141.0 6.0
1-1/2"1 15 | 161 | 193 | 244 | 483 | 051 | 381 | 1.07 | 0.74 | 7.09 | 0.34 | 1.97 F05 M6*1.0 | 9/16"-18UNF | 186.0 8.5
2" 1971 207 | 241 | 299 | 551 | 063 | 413 | 1.11 | 0.75 | 7.09 | 0.34 | 1.97 F05 M6*1.0 | 9/16"-18UNF | 284.1 13.6
unit: in

2503 Spring Grove Avenue, Cincinnati, OH 45214 « 800.888.2583 ¢ www.powellvalves.com




